Chap18hw

Answer Section
SHORT ANSWER

1.
ANS:


The purchase of a foreign good by a U.S. resident is a U.S. import. Since net exports = exports - imports, net exports decrease. Bill pays for the software with U.S. dollars so that the Japanese have obtained more U.S. assets. Since, net capital outflow = the amount of foreign assets acquired by domestic residents - domestic assets acquired by foreign residents, the increase in foreign holdings of dollars by Japanese residents decreases U.S. net capital outflow.

2.
ANS:


Start from the national income accounting identity,

(1)  Y = C + I + G + NX.

Recall from Chapter 25 that national saving is the income that is left after paying for current consumption and government expenditure,

(2)  S = Y - C - G.

Rearranging, (1) we obtain Y - C - G = I + NX, and substituting in (2)

(3)  S = I + NX.

Because net exports also equal net capital outflow, we can also write this equation as

(4)  S = I + NCO.

3.
ANS:


The nominal exchange rate is the rate at which a person can trade the currency of one country for the currency of another. The real exchange rate is the rate at which a person can trade the goods and services of one country for the goods and services of another.
PTS:
1
DIF:
2
REF:
31-2
NAT:
Analytic

LOC:
International trade and finance
TOP:
Nominal exchange rate | Real exchange rate

MSC:
Definitional

4.
ANS:


The real exchange rate = nominal exchange rate  Domestic Price/Foreign price = 1.25 euros per dollar [image: image1.png]


 20 dollars/25 euros = 1.
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5.
ANS:


That it is equal to one. The number of dollars it takes to buy goods in the U.S.buys enough foreign currency to buy the same amount of goods in a foreign country.
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